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Similar Welowerk  practice : #15,1¢,17, 18, 20
Webwork Ske,{-china, 'rar‘ame:l'ric, curve @ = 6, |2

10.2 ( Welbwor k4 70) Use-Hd WDAC“F 4 [“‘*C

Suppose h(t) and k(t) are differentiable functions of ¢. Consider the parametric curve (: dt_ }
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Similar Webwork Practice: # 8, 7, 10, 12-



0.2

Determine the polar coordinates of the two points at which the polar curves r = 7sin(0) and r =7 cos(8)
intersect. Restrict your answers to r > 0 and 0 < 0 < 2.

To input answers, list the two points in order of increasing values of r. If both points have the same value
of r,, list them in order of increasing values of 0. If one of the intersection points is the pole, type “pole” in
lower-case letters in both blanks for the first point.

Intersection point 1: (r,8) = (J”l_b,_)&)
Intersection point 2: (r,0) = (T{Z_, '2 )
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Also when v=0, fle Fole

Consider the curves Y=4 and 1 cos O =4

At how rany '.FoTr)‘f'S do ‘{’('\244_ trtersect ¢ Ans: 1

- [(:Lf 9';0
ALt what -foTnt/S do ‘Une,% intersect ¢ Ans: ’ )
<=4 is —the circle with vadiue 4 centeced at e eciyin.
Teosf =4 s equvalent Ho Fhe  Cartesian eqguation =4,

which describes —the vecdical  line ‘—H«lroujq—ﬂo_ Fo'lr\‘t &=‘h'_‘)=>

Co —he only tersection Toint s  at (K‘Lf‘:{q,)

[e»buiv:»/tn'l'hj, at é“t, 9=0> n :Talar C,ab(‘o\'iqaﬁg

@ Consider -the curves 9—/—2— and (xr"DL—F(:H'L) =1,
At how rany ?oTn‘f'S do ‘H\eQ_ intersect ¢ Anz: D
At what ToTnt/S do they intersect ¢ VA
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9-.-_-—% is the line “Hlf‘oush —the oCiEgn Hxt wickes a 2q'e Z

with  the posiive PRI

(x-0 + (=] = —he crele th vadius [ centered at (#,-2).
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